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B.Ed. SPECIAL EDUCATION (BEDSE) 

Term-End Examination 

June, 2011 

MMDE-018 : TEACHING OF MATHEMATICS 

Time : 2 hours 	 Maximum Marks : 50 

Note : All questions are compulsory. Questions may or may 

not have internal choice. Marks are alloted against 

each questions. 

1. 	Answer any three of the following questions. 3x4=12 

(a) Appreciate the role of Self-Learning in the 

teaching of Mathematics. 

(b) Derive the Lecture method in teaching of 

Mathematics. 

(c) Write a note on the need and importance of 

mathematics in School Curriculum. 

(d) What is the meaning of Evaluation in 

Mathematics. 

(e) Illustrate various types of test items in 

Mathematics 

(f) What is Drill and Practice in teaching 

Mathematics ? 
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2. 	Answer any three of the following questions. 3x4=12 

(a) What is Number System, Natural Number, 
Rational Number and Irrational Number ? 

(b) Illustrate operations and properties of real 
number system with the help of number 

line. 

(c) Sketch the relationship between percent, 

decimal and fraction. 

(d) How will you define the term 'Median' ? 

Illustrate it with two examples. 

(e) Giving an example illustrate the Frequency 

distribution table. 

(f) Explain the Histogram with an example. 

	

3. 	Answer any four of the following questions. 401/2=14 
(a) Explain Union and intersection of the sets 

with Venn Diagrams. 

(b) Illustrate the 'Relations' in term of set theory. 

(c) How a Polynomial is divided by monomial. 

Divide 4x3  + 8x2  + 5x + 9 by 2x + 5 

and 12x4 -13x3 — 10x2 + 16x — 25 by 4x2  — 3x + 5. 

(d) Illustrate the general formula of quadratic 

equation and explain 'roots' and 
'discriminant'. 

(e) Find the Value of x in 8x2  — 22x — 21= 0 

(f) Explain the logic and use of 'Boolean 
Algebra' 

(g) What is Mechanical Calculating Device ? 
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4. 	Answer any three of the following questions. 3x4=12 
(a) What is similar triangles and their 

properties ? 
(b) Who is Pythagoras, what is his theorem ? 
(c) Evaluate the following : 

(i) 	2 cos2  30°. cot 60° + 3 sin260. cosec2  30° 

tan 60° 	tan 45° 
sine  45° 	cos2  60° 

(d) Prove that : 
2sec20 — sec40 — 2 cosec20 +cosec40 = 
cot40 — tan40 

(e) The minute hand of a clock is 10 cm long. 
Find the area on the face of the clock 
described by the minute hand between 10 

22 
A.M. and 10.35 A.M. if value of IT is T. 
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